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2- Answer briefly any five parts

(10 5 x 2)- /s ez S aibie 3 -2

i

What doym meanb} Horticulture? Hm’u it is related to Agnmﬂmre"

What was Bu-Ali-Sina famous for? Write the name of his most
famous book. :
} : e"-“s‘-—"‘:ﬁ,wﬁmcawéo* 45 oapiie S o g

1l

Name the steps which biologist takes in solving Biological problem.
Cipa? UL E o dal e of S glat ol S S da ol e JSaa sl
s s

What is dengue fever? Name its symptoms.

v :
wﬁxﬁdﬁb ol ’cbe_)ﬂum

A Who and when introduces the five kingdom classification system.? vi What are the effects of Uver—huntmg a ammal population?
Tl oS Cilatia 3 S gl S o QSIS 5Ky 03 e Gl S e dual (S ggasta e S Mty
vit | Write the causes of Necrosis. viii | Enlist the events of propapase of mitosis.
L S ppoaibiga g S Gueg S oty Cana pd S cdaBly S 5 oS pua sl
Q. No: 03 Answers briefly any five parts from the following. (5x2=10)  -0aS sl Sl ea ialda Ko 15al glly e S e g
i What is Endoplasmic Reticuluin? Write the names of its two types. i State the functlcm of Sclerenchyma tissue.
oS al Sl g Sl § LS al g€ ) S S 3l oS psd Jad S o5 S G i
il | Write names of two sub cellular particies. tv Define optimum temperature? What is the optimum
oS pl S ISE L sl s g2 temperature of human enzymes?
B U e pell S el il (sl g S Ciga (S s gl ol
v What is meant by denaturation of enzymes? vi If conceniration of substrate is increased in a Biochemical
Tt el e a1 a3 S 30 Reaction? What will the effect on rate of enzyme action?
e 23 5 O i S G MM‘JJMJ“"-‘«*‘SJQ
- "l§ o3 AUS p J5)) S OIS W 55
vii | Define photosynthesis and write its equation. viii | Define Glycolysis. Where does this process occur?
S S hen Sl gl g S iy 323 (S sl S g6 ot Uit S e g S i o S el SIS
Q. No: 04 Answers briefly any five parts from the following. (5x2=10) xS wad iy paida Sl gy o S g i g0

Write the role of Calcium and Potassinm in plants life.

S S il SEadilp sl mdlS e (S0 S Usan

i Write down two symptoms of Diarthea.
S P cldle g (S S

i

What is Gastric juice? Name the enzyme present in Gastric juice?

v What are Micronutrients? Give two examples.

Note: Attempt any two questions,

5. (a) Write a note on any four careers which a student of a biology can adopt?

{b) Describe the structure and function of Endoplasmic Reticulum and Golgi apparatus.

et i 230 e 06 e el g LS nga 1S Ll L.eiwi‘-h_:-\"wsuu&)w,aﬁ-uh
v | How does human heart work as a double pump? vi What are the functions of Leukocytes?
§ S S sk S caa IS S 7 d oS s *’wﬁ-\:dﬁ";‘-uﬁbﬁsxﬁ
vii | Write the steps involved in the opening of stomata by guard cells. viii | Why Transpiration is called a necessary evil?
w Spdal e w9 pe el B on S i e e 3 s ?aalﬁau-«uﬁu-\uusuwddﬁwﬂﬂu
SECTION II

(2x9=18)

S AT Ol g =S S g g oni 198 (Ca0)
(04)
et e Sl ple alla 1S o gl s eI Qg g ot e el ()
03) | |

oS ot Jadl gh sl S Oagl (I8 st S Ay a3 ST (<)

6. {a) Explaim the Metaphase and Anaphase in Mitosis. (04) r Sl g (S 58 U st i Usa e g e ()

(b) State the effect of varying light intensity, carbon dioxide concentration and temperature on the rate of photosynthesis. (03)
A S O Y A8 S g ﬁﬁ 1S apat gl e S BT A5 G MSemial 3l S (B, (@)
7. (a) Describe the concept and need for a balanced of diet.

(04) S O e g pin S el )yl el 8152 G558 (1)

(b) State the cause, treatments and prevention of myocardial infarction. {05)

S AT das sl zoie itk sas oS S i A S pie (<)
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e 3+EIT iv _ ey AL | i

log,x=4 £ Zpmeddf x |vi 22 2540 2,147,000 | v
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_EESAL x4 27 |ix

(12=6 x 2) LIfe P g ey 3
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_E v Pt st nhat5 | ix

(12=6 x 2) L2 g 3 4
_#E Al S| i B e Pz y fS ot | |
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(Section-l) (sl 4eaa)
(5x2=10) A2 fm P iz e (52

Q:2.Write shortanswers of any five parts from the followings. (5x2=10)

e GG oy i NS ey S
Differentiate between moleculor formula and empirical Define Metals. Give an example also. '
formula.
et =T v te Ul = eSS e Yy Lt | i
What is isotopes? Give an example. What is atomic mass unit? Why do we need this unit?
S FSIAEL G| i StV Bser It | v
Define Thomson's Model of atom. What do you mean by radioactive carbon dating?
9+J)gf,c$?}uyﬁgljsi&, 25200 | i Sl UL | Vil
How does electronegativity differ from electron affinity? What is shielding effect? :

(5x2=10) -7 /._.,uy/ff_piysétc..éf 3

Q:3. erte short answers of any five parts from the followings. (5x2=10)

_J_)JD_Q?.:'_),#“UZJL..J:J[J: ii g“:_,yg;_,l_),,_»,_,t(r’ i
Define double covalent Bond. Give an example. What is meant by Octet Rule?
Sesl e ssaih | iv e Sriidydin-Jgdis | i
What are adhesives?” Wirite two properties of dipole-dipole Forces.
et ety | SRS 7| v
What is Allotropy? Differentiate between Effusion and Compressibility.
e L AG A | vii S st il | vi
Define Amorphous soiids. Give two examples also. What is Charles law?

(5x2=10) -JS77=l fﬁﬁ;lfléta.dﬁ4

Q:4.Write shortanswers of any five parts from the followings. (5x2=10)

L Sg Fobiizon Skl | LS ALARA]
Write effect of Temperature on solubility. Give four examples of solution of a gas in a gas.
te b UL AR Ao F Y |iv te IR L g b L7157 | i
Why Galvanic cells are also called as voltaic cells? Differentiate between Oxidising Agent and Reducing Agent.
‘e PN ?cg_,yga,(j;b’cf 0sl v
What is funcion of salt bridge? What is electroplating?
et et iy D1 s | Vi . S el 3 | i
Metals are electropositive.Why? Write down two uses of Sodium.
(Section-l) (p30 4ma)
Note: Attempt any two questions. (9x2)=18 i .-_-,l..l.eic.uﬂlr,ua..éﬁ.b}
(05) | A) Write down five differences between a compound and a mixture. -(_)_’/ulfﬁ)égda ity (| 5
: B) What are the general features of the long form of the periodic '
(04) | table. Y S 1 o7 A L
(05) | A) Define covalent bond.Write a note en polaritry in covalent bond. _u:”g..‘./;:;;j ,,;‘uﬂ:g.:.ﬁ:::‘:q/_.y Pkl (U] 6
B) Compare the crystal structures and properties of diamond and i;,y:;ﬁru‘..-.,yf%,ru?vds u(..iflﬁ'g ::'4-/;1' (-
{04) | graphite.
(05) | A) Write down types of solutions with examples. _uf?viu:‘t?ﬂrﬁlufa-ﬂﬁ (| 7
B) Define an electrolyte. Explain the strong and weak electrolyte St P asiP oy S Flasn (o
(04) with examples. -J S Uil
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{(Note) Each question has four possibie answers A,B,C and D. Tick (V) the correct answer. Overwriting, Cutting,
using lead pencil will result in loss of marks. All questions are to be attempted.

aéﬁ}ﬂpiau&aig3;1Ljﬁ&n}ﬁ&ﬁ.&&abﬁLS(\/}&J@&,:‘&CAHJJ.L&J&J QQ‘&MJQEJ}A*(&})

A8 e b Gy el LS K Gl
(D) (C) (B) (A) Questions 5
_ : No
o) b Jraet! SEP oS U s 378 S jlaila el |
Hydrogen Oxygen Nitrogen Carbon The element makes 3% of the total mass of living
o organism is
B JRET ISP E VP TI et P N S
Lipids Protein Carbohydrates | Fats Gastric juice digests.
BYEOYRTNPY I D e 6 st o Mo S Jlitie (SUpde e li3a | 3
Calex Fly Aedes mosquito | Anopheles It is responsible for the transmission of malaria in
mosquito mosquito Sparrow is
pd & e | skl iy S, Fy Can ) S Dasad 0 O Al a8 | it | 4
Margulis | Aristotle | Robert Ernst Hackle | Who proposed a third kingdom system?
i Whittaker
IS s R T N P PR S S el oS 5 Sile 2l S S | 5
Photograph Micro graph | Cardio graph Tonograph
The photograph taken by microscope is called
1909 1908 1907 1906 Lo o 385 Ja i 1S il sl o2 she i S 208 1 6
When Golgi was given Nobel Prize in physiology and |
medicines?
e 58 e I35 385 s o9t Sl S| 7
Anaphase Metaphase Prophase I Prophase Crossing over occur in :
e 3 5 50 e il Jsen | (e odns Qe s GBS AS A58 ey | 8
Large Small Stomach Mouth Pepsin enzyme works in
intestine intestine
1932 1931 1930 1929 S il ATP S omesd IS | 9
Karl Lohmann discovered ATP
& M 585k 3 s oS s B8 el | 10
Starch Cellulose Lipid Protein Which of these is the main component of dietary fiber?
o 55 i Saen o S saa fow S S S Ny | 11
Large Small Stomach Esophagus Where are villi found? '
intestine intestine
gy s b 38 i3 o S8 Ja S RS o el | 12
Phloem Xylem Guard cells Mesophyll The transpiration is regulated by
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